

On the Cubic Diophantine Equation with four

unknowns $x^2 - y^2 = z^3 - w^3$

A.Vijayasankar¹, M.A.Gopalan², V.Krithika³

¹ Assistant Professor, Department of Mathematics, National College, Trichy-620001, Tamilnadu, India.

² Professor, Department of Mathematics, SIGC, Trichy-620002, Tamilnadu, India.

³ Research Scholar, Dept. of Mathematics, National College, Trichy-620001, Tamilnadu, India.

Abstract - The sequences of integral solutions to the cubic equation with four variables $x^2 - y^2 = z^3 - w^3$ are obtained. A few properties among the solutions are presented. Also, Knowing a solution of the given equation a general formula for obtaining sequence of solutions based on the given solution are presented.

Keywords: Cubic equation with four unknowns, non-homogeneous cubic, cubic with four unknowns, integral solutions.

2010 Mathematics Subject Classification : 11D25

Notations used:

- $t_{m,n}$ - Polygonal number of rank n with size m .
- P_n^m - Pyramidal number of rank n with size m .
- Pr_n - Pronic number of rank n
- J_n - Jacobsthal number of rank n .
- G_n - Gnomonic number of rank n .
- $Ct_{m,n}$ - Centered polygonal number of rank n with size m .
- TK_n - Thabit - ibn - Kurrah number of rank n .

I. INTRODUCTION

The Diophantine equation offers an unlimited field for research due to their variety [1-4]. In particular, one may refer [5-13] for cubic equation with three unknowns. In [14,15] cubic equations with four unknowns are studied for its non-trivial integral solutions and in [16,17] cubic equations with five unknowns and one may refer [18,19] for cubic equation with six unknowns are analyzed for its distinct integer solutions.

This communication concerns with the problem of obtaining infinitely many non-zero distinct integral solutions of cubic equation with four variables given by $x^2 - y^2 = z^3 - w^3$. A few interesting properties among the solutions are presented.

II. METHOD OF ANALYSIS

The cubic Diophantine equation with four unknowns to be solved for getting non-zero integral solution is

$$x^2 - y^2 = z^3 - w^3 \tag{1}$$

We illustrate below different type of solutions for the given equation.

Illustration 1:

Equation (1) can be factorized as

$$(x + y)(x - y) = (z - w)(z^2 + zw + w^2)$$

which is written as system of two equations

$$\begin{aligned} x + y &= z^2 + zw + w^2 \\ x - y &= z - w \end{aligned}$$

From the above system, we get

$$\begin{aligned} x &= \frac{1}{2}(z^2 + zw + w^2 + z - w) \\ y &= \frac{1}{2}(z^2 + zw + w^2 - z + w) \end{aligned}$$

As our aim is to find integer solutions, choose z and w as in the following cases:

Case (1): $z = 2a$, $w = 2b$

For this case, the corresponding non-zero distinct integer solutions to (1) are

$$\begin{aligned} x(a,b) &= 2a^2 + 2ab + 2b^2 + a - b \\ y(a,b) &= 2a^2 + 2ab + 2b^2 - a + b \\ z(a) &= 2a \\ w(b) &= 2b \end{aligned}$$

Properties:

- ❖ $x(a,1) + y(a,1) - Ct_{8,a} - J_3 = 0$.
- ❖ $x(a,1) + z(a,1) - 2Pr_a - J_1 \equiv 0 \pmod{3}$.
- ❖ $6(x + y)$ is a nasty number.
- ❖ $2x(a,1) + 3y(a,1) - 10t_{4,a} \equiv 2 \pmod{9}$.
- ❖ $[\{z(a) + w(a)\}^2 - \{x(a,a) + y(a,a)\}]$ is a perfect square.
- ❖ $y(1,2^a) + w(2^a) - 2t_{4,2^a} - TK_a - G_{2^a} - J_3 = 0$.

Case (2): $z = 2a + 1, w = 2b$

For the above values of z and w , the corresponding non-zero distinct integer solutions to (1) are

$$\begin{aligned} x(a,b) &= 2a^2 + 2ab + 2b^2 + 3a + 1 \\ y(a,b) &= 2a^2 + 2ab + 2b^2 + a + 2b \\ z(a) &= 2a + 1 \\ w(b) &= 2b \end{aligned}$$

Properties:

- ❖ $x(a,1) + y(a,1) - 4Pr_a \equiv 7 \pmod{4}$.
- ❖ $2x(a,1) - [z(a)]^2 - 3w(a) = 5$.
- ❖ $y(a, a + 1) + w(a + 1) - 2\{t_{4,a} + t_{4,a+1} + Pr_a\} \equiv 4 \pmod{5}$.
- ❖ $3\{z(a^2) + w(a) - G_a - 2\}$ is a nasty number.
- ❖ Each of the following expressions represents a perfect square:

$$\begin{aligned} &8\{x(1,b) - y(1,b) + G_b\} \\ &x(a^2, a) - y(a^2, a) + z(a^2) + G_a + J_3 \end{aligned}$$

Case (3): $z = 2a, w = 2b + 1$

For the above values of z and w , the corresponding non-zero distinct integer solutions to (1) are

$$\begin{aligned} x(a,b) &= 2a^2 + 2ab + 2b^2 + 2a + b \\ y(a,b) &= 2a^2 + 2ab + 2b^2 + 3b + 1 \\ z(a) &= 2a \\ w(b) &= 2b + 1 \end{aligned}$$

Illustration 2:

On substituting the linear transformations

$$z = y + h, w = y + k, h \neq k \neq 0 \tag{2}$$

in (1), it leads to

$$x^2 = (3h - 3k + 1)y^2 + (3h^2 - 3k^2)y + h^3 - k^3, \tag{3}$$

$h \neq k$

To Solve (3), we have to go in for a particular value for h and k . For simplicity and brevity, by taking $h = 3$ and $k = 1$ in (3), we obtain

$$x^2 = 7y^2 + 24y + 26 \tag{4}$$

Performing some algebraic simplifications, the above equation is written as

$$Y^2 = 7x^2 - 38 \tag{5}$$

where $Y = 7y + 12$ (6)

The smallest positive integer solution of (5) is

$$Y_0 = 5, x_0 = 3 \tag{7}$$

To obtain the other solutions of (5), consider the pell equation

$$Y^2 = 7x^2 + 1 \tag{8}$$

whose general solution is given by

$$\tilde{x}_n = \frac{g_n}{2\sqrt{7}}$$

$$\tilde{Y}_n = \frac{f_n}{2}$$

where

$$f_n = (8 + 3\sqrt{7})^{n+1} + (8 - 3\sqrt{7})^{n+1}$$

$$g_n = (8 + 3\sqrt{7})^{n+1} - (8 - 3\sqrt{7})^{n+1}, n = -1, 0, 1, 2, \dots$$

Applying Brahmagupta lemma between (x_0, Y_0) and

$(\tilde{x}_n, \tilde{Y}_n)$, the other integer solutions of (5) are given by

$$x_{n+1} = \frac{3}{2}f_n + \frac{5}{2\sqrt{7}}g_n \tag{9}$$

$$Y_{n+1} = \frac{5}{2}f_n + \frac{21}{2\sqrt{7}}g_n$$

By using (9) in (6) and employing (2), we obtain the non-zero distinct integral solutions to (1) given by

$$\begin{aligned}
 x_{n+1} &= \frac{3}{2}f_n + \frac{5}{2\sqrt{7}}g_n \\
 y_{n+1} &= \frac{1}{7}\left\{\frac{5}{2}f_n + \frac{21}{2\sqrt{7}}g_n - 12\right\} \\
 z_{n+1} &= \frac{1}{7}\left\{\frac{5}{2}f_n + \frac{21}{2\sqrt{7}}g_n + 9\right\} \\
 w_{n+1} &= \frac{1}{7}\left\{\frac{5}{2}f_n + \frac{21}{2\sqrt{7}}g_n - 5\right\}, n = -1,0,1,2,\dots
 \end{aligned}$$

T

-1	3	-1	2	0
0	39	13	16	14
1	621	233	236	234
2	9897	3739	3742	3740
3	157731	59615	59618	59616
4	2513799	950125	950128	950126

he recurrence relations satisfied by x, y, z and w are given by

$$\begin{aligned}
 x_{n+3} - 16x_{n+2} + x_{n+1} &= 0 \\
 y_{n+3} - 16y_{n+2} + y_{n+1} &= 24 \\
 z_{n+3} - 16z_{n+2} + z_{n+1} &= -18 \\
 w_{n+3} - 16w_{n+2} + w_{n+1} &= 10, n = -1,0,1,2,\dots
 \end{aligned}$$

A few numerical examples are given below in Table1:

Table 1 : Numerical Examples

n	x_{n+1}	y_{n+1}	z_{n+1}	w_{n+1}
-----	-----------	-----------	-----------	-----------

- ❖ $798y_{n+1} = 38x_{n+2} - 304x_{n+1} - 1368$
- ❖ $16891y_{n+2} = 399x_{n+3} + 1064y_{n+1} - 27132$
- ❖ $798y_{n+2} = 304x_{n+2} - 38x_{n+1} - 1368$
- ❖ $798y_{n+3} = 4826x_{n+2} - 304x_{n+1} - 1368$
- ❖ $x_{n+3} = 16x_{n+2} - x_{n+1}$
- ❖ $798y_{n+2} = 38x_{n+3} - 304x_{n+2} - 1368$
- ❖ $798y_{n+3} = 304x_{n+3} - 38x_{n+2} - 1368$
- ❖ $16891y_{n+1} = 6384x_{n+3} + 133y_{n+1} - 28728$
- ❖ $798y_{n+1} = 304x_{n+3} - 4826x_{n+2} - 1368$

From the above table , we observe some interesting relations among the solutions which are presented below:

1. x_{n+1} and y_{n+1} are always odd
2. z_{n+1} and w_{n+1} are always even
3. Relations among the solutions:
 - ❖ $y_{n+3} = 16y_{n+2} - y_{n+1} + 24$
 - ❖ Each of the following expressions represents a nasty number:
 - $\frac{6}{19}\{7y_{2n+3} - 91y_{2n+2} - 182\}$
 - $\frac{2}{19}\{103x_{2n+2} - 5x_{2n+3} + 114\}$
 - $\frac{6}{2413}\{21x_{2n+4} - 11501y_{2n+2} - 14890\}$
 - $\frac{2}{19}\{1643x_{2n+3} - 103x_{2n+4} + 114\}$

❖ Each of the following expressions in Table 2 represents a hyperbola:

Table 2: Hyperbola

Hyperbola	(p_n, q_n)
❖ $p_n^2 - 63q_n^2 = 12996$	$(103x_{n+1} - 5x_{n+2}, 13x_{n+1} - x_{n+2})$
❖ $7p_n^2 - q_n^2 = 90972$	$(1643x_{n+2} - 103x_{n+3}, 4347x_{n+2} - 273x_{n+3})$
$p_n^2 - 7q_n^2 = 23290276$	$(21x_{n+3} - 11501y_{n+1} - 19716, 5x_{n+3} - 4347y_{n+1} - 7452)$
$63p_n^2 - q_n^2 = 90972$	$(91y_{n+1} - 7y_{n+2} + 144, 721y_{n+1} - 35y_{n+2} + 1176)$

❖ Each of the following expressions in Table 3 represents a parabola:

Table 3: Parabola

Parabola	(p_n, q_n)
$2793q_n^2 = 4527p_n - 1032156$	$(103x_{2n+2} - 5x_{2n+3} + 114, 13x_{n+1} - x_{n+2})$
$q_n^2 = 399p_n - 90972$	$(1643x_{2n+3} - 103x_{2n+4} + 114, 4347x_{n+2} - 273x_{n+3})$
$7q_n^2 = 2413p_n - 23290276$	$(21x_{2n+4} - 11501y_{2n+2} - 14890, 5x_{n+3} - 4347y_{n+1} - 7452)$
$q_n^2 = -1197p_n - 90972$	$(91y_{2n+2} - 7y_{2n+3} + 182, 721y_{n+1} - 35y_{n+2} + 1176)$

Illustration 3:

By substituting the transformations

$$\begin{aligned} x &= 2n^3u + v, y = 2n^3u - v, \\ z &= 2nP, w = 2nQ \end{aligned} \tag{10}$$

in (1), we get

$$uv = P^3 - Q^3, P \neq Q \neq 0 \tag{11}$$

from which note that

$$\begin{aligned} u &= P^2 + PQ + Q^2 \\ v &= P - Q \end{aligned} \tag{12}$$

By using (12) in (10), we have the corresponding non-zero distinct integer solutions to (1) found to be

$$\begin{aligned} x &= 2n^3(P^2 + PQ + Q^2) + (P - Q) \\ y &= 2n^3(P^2 + PQ + Q^2) - (P - Q) \\ z &= 2nP \\ w &= 2nQ \end{aligned}$$

Note :

Using the transformations

$$x = u + 2n^3v, y = u - 2n^3v, z = 2nP, w = 2nQ$$

in (1), we get the corresponding non-zero distinct integer solutions to (1) given by

$$\begin{aligned} x &= (P^2 + PQ + Q^2) + 2n^3(P - Q) \\ y &= (P^2 + PQ + Q^2) - 2n^3(P - Q) \\ z &= 2nP \\ w &= 2nQ \end{aligned}$$

Illustration 4:

Introducing the transformations

$$z = 2k - 1 + K, w = K$$

in (1), it gives

$$\begin{aligned} x^2 - y^2 &= 8k^3 - 12k^2 + 6k - 1 + 6K^2k - 3K^2 \\ &+ 3K + 12Kk^2 - 12Kk \end{aligned}$$

Observe that for all values of k and K, the Right Hand Side of the above equation is always odd.

Employing the identity, $(A + 1)^2 - A^2 = 2A + 1$ we have

$$\begin{aligned} x &= 4k^3 - 6k^2 + 3k + 3K^2k + 6Kk^2 - 6Kk - \frac{3K(K-1)}{2} \\ y &= 4k^3 - 6k^2 + 3k - 1 + 3K^2k + 6Kk^2 - 6Kk - \frac{3K(K-1)}{2} \end{aligned}$$

A few numerical examples are presented below:

Table 3 : Numerical Examples

K	k	x	y	z	w
1	2	32	31	4	1
2	3	168	167	7	2
4	2	140	139	7	4
5	3	438	437	10	5

III. GENERATION OF SOLUTIONS

Let (x_0, y_0, z_0, w_0) be the initial solution to (1).

Assume

$$x_1 = 2h - 3^3x_0, y_1 = 3^3y_0 + h, z_1 = 3^2z_0, w_1 = 3^2w_0$$

to be the second solution to (1).

Then, we obtain

$$h = 36x_0 + 18y_0$$

$$x_1 = 45x_0 + 36y_0$$

Therefore,

$$y_1 = 36x_0 + 45y_0$$

Repeating the above process, we get the corresponding non-zero distinct integral solutions to (1) represented in the matrix form as given below:

$$\begin{pmatrix} x_n \\ y_n \\ z_n \\ w_n \end{pmatrix} = 9^n \begin{pmatrix} \frac{9^n + 1}{2} & \frac{9^n - 1}{2} & 0 & 0 \\ \frac{9^n - 1}{2} & \frac{9^n + 1}{2} & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} x_0 \\ y_0 \\ z_0 \\ w_0 \end{pmatrix}$$

IV. CONCLUSION

In this paper, we have presented sets of infinitely many non-zero distinct integer solutions to the cubic equation with four unknowns given by $x^2 - y^2 = z^3 - w^3$. In other words, we have obtained quadruples such that, in each quadruple, the difference of the squares of any two members equals the difference of cubes of its other two members. As Diophantine equations are rich in variety due to their definition, one may attempt to find integer solutions to higher degree Diophantine equations with multiple variables along with their suitable properties..

REFERENCES

[1] L.J.Mordell, Diophantine Equations, Academic press, New York, 1969.
 [2] Carmichael, R.D.. The Theory of Numbers and Diophantine Analysis, New York, Dover. 1959.
 [3] Dickson, L.E. History of Theory of Numbers, vol.2,Diophantine Analysis, New York, Dover, 2005.
 [4] Telang.S.G., Number Theory , Tata Mc Graw Hill Publishing Company , NewDelhi 1996.
 [5] M.A.Gopalan and S.Vidhyalakshmi, A.Kavitha , Observations on the Ternary Cubic Equation $x^2 + y^2 + xy = 12z^3$, Antarctica J.math.,10(5),453-460,2013.
 [6] M.A.Gopalan and K.Geetha, On the ternary cubic diophantine equation, $x^2 + y^2 - xy = z^3$, Bessels J.Math.,3(2),119-123,2013.
 [7] S.Vidhyalakshmi, M.A.Gopalan and A.Kavitha , Observations on the Ternary Cubic Equation $x^2 + y^2 - xy = 7z^3$, International Journal of Computational Engineering and Resarch., Vol 3, Issue 5, 17-22, May 2013.
 [8] M.A.Gopalan, S.Vidhyalakshmi, G.Sumathi, On the Ternary Cubic Diophantine Equation $x^3 + y^3 + z(x^2 + y^2 - 20) = 4(x + y)^2 z$, impact J.Sci. Tach, Vol 7(2),0106,2013.
 [9] S.Vidhyalakshmi, T.R.UshaRani, M.A.Gopalan, Integral Solutions of Non-Homogeneous Cubic Equation $ax^2 + by^2 = (a + b)z^3$, Diophantine J.Math., 22(1), 31-38,2013.

[10] K.Meena, M.A.Gopalan, S.Vidhyalakshmi, Aarthi Thangam.S, On the ternary non-homogeneous cubic equation $4(x + y)^2 - 7xy + (x + y) + 15(x - y) = 16(z^3 - 1)$ Bessel J.Math., 4(3),75-80,2014.
 [11] S.Vidhyalakshmi, M.A.Gopalan and A.Kavitha , On the ternary cubic equation $5(X + Y)^2 - 7XY + X + Y + 1 = 23z^3$, IJRR, 1(10), 99-101, 2014.
 [12] M.A.Gopalan, N.Thirunraiselvi, V.Krithika, On the ternary cubic Diophantine equation $7x^2 - 4y^2 = 3z^3$, International Journal of Recent Scientific Research, Vol.6, Iss-9, pp-6197-6199, September 2015.
 [13] M.A.Gopalan, S.Vidhyalakshmi, N.Thirunraiselvi, On the Non-Homogeneous ternary Cubic Equation $2a^2(x^2 + y^2) - 2a(k + 1)(x + y) + (k + 1)^2 = 2^{2n} z^3$, Universe of Emerging Technologies and Science, Vol-II, Iss-I, pp-1-5, January 2015.
 [14] M.A.Gopalan and K.Geetha, Observations on Cubic Equation with four unknowns $x^3 + y^3 + xy(x + y) = z^3 + 2(x + y)w^2$, International Journal of Pure and Applied Mathematical Sciences, Vol.6,No.1, 25-30, 2013.
 [15] M.A.Gopalan, ManjuSomanath, and V.Sangeetha, Lattice points on Homogeneous cubic equation with four unknowns $(x + y)(xy + w^2) = (k^2 - 1)z^3, k > 1$, Indian Journal of Science, Vol-2, No.4, 97-99, 2013.
 [16] M.A.Gopalan, S.Vidhyalakshmi, T.R.UshaRani, Integral Solutions of cubic equation with five unknowns $x^3 + y^3 + u^3 + v^3 = 3t^3$, IJAMA, Vol . 4(2), 147-151, December 2012.
 [17] M.A.Gopalan, S.Vidhyalakshmi, N.Thirunraiselvi, On the cubic equation with five unknowns $3(x^3 - y^3) = z^3 - w^3 + 12t^2 + 4$, International Journal of Engineering, Science and Mathematics, Vol.2, Iss.1, 227-236, March 2013.
 [18] M.A.Gopalan., etal.,On the Cubic Equation with six unknowns $x^3 + y^3 + z^3 + w^3 = 2(P^3 + Q^3)$, International Journal of Science and Technology, , Vol 18(1), 1218-1223, The Experiment 2014.
 [19] M.A.Gopalan, N.Thirunraiselvi, K.Agalya, Solutions of the homogeneous Cubic Equation with six unknowns $(w^2 + p^2 - z^2)(w - p) = (k^2 + 2)(x + y)R^2$, Jamal Academic Research Journal, An Interdisciplinary Special Issue, pp:273-278, February 2016.